
k|fyldstf 
qmd

cfof]hgfsf] gfd cfof]hgf ;~rfng x'g] :yfg ljlgof]lht ah]^ ? hDdf 

1 cu'jf s[ifs tflnd 50000
2 blnt s[ifs x?nfO{ a+u'/ ljt/)f 75000
3 s[ifsx?nfO{ afv|f ljt/)f 125000

4
s[lif tyf kz' k|bz{gL tyf k|f]T;fxg 
sfo{qmd 135000

5 l;+rfO{ k}}gL dd{t ;Def/ 100000
485000

1 lzIff 500000

2
afnd}lq :YffgLo zf;g ;DalGw 
cled'lvs/)f 

50000

3
dlxnfx?sf] cf+~v:g] ;d:of ;DalGw 
lzlj/

145000

4 blntx?sf] ;fdfu|L ;xof]u 20000
5 vfg]kfgL ^\o'j]n ljt/)f 61000
6 ;+:s[lt k|j${g tkm{ 194000

970000

1
kz'kltsf] #/b]lv klZrd dxu'd)*nsf] 
#/ ;Dd sfnf]kq]

2800000

2 e}k/L cfpg] k"lhut 110000
2910000

1 ljkb Joj:yfkg ;DaGwL ;fdfu|{L vl/b tyf 
lkl*tx?nfO{ ;xof]u

150000

2 kf]i^ cf]=l*=Pkm= ;DaGwL hgr]tgf sfo{qmd 50000

3 ljBfno tyf k|lt #/w'/L j[Iff/f]k)f sfo{qmd 42500

242500

1 j*f sfof{no k"lhut Joj:Yffkg 27500
2 ;fj{hlgs ;'g'jfO{ sfo{qmd 15000

3
hgk|ltgLlw tyf sd{rf/Lx?nfO{ Ifdtf 
ljsf; sfo{qmd

200000

242500
4850000

hDdf
jftfj/)f tyf ljkb Joj:yfkg

hDdf
;"zf;g tyf ;+:Yffut ljsf; 

hDdf
hDdf

j*f g+=2

cfly{s ljsf; 

hDdf
;fdflhs ljsf; 

hDdf
k'jf{wf/ ljsf; 


